MATHEMATICS

AMODES 2: MINI - TEST TWO 20
Name: ( ) Date:
Class: Primary 2 Parent’s signature:

Multiple Choice Questions {4 x 1 mark

For each question, four -options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4) and write your answer in the
bracket.
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Look at the picture below. What is the length of the pencil?
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Read the questions carefully and write your answers in the blanks
provided.

5.  Look at the picture below. Write a division equation.
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8.  Circle groups of balls to show 9 groups of 5.




7.  Write the estimated height of the object in metres.
The lamppost is about tall.

8. Fill in the blanks with cm or m.

(a) My pencil case is about 25 long.

(b) The classroom door is about 2 tall.




Long Answer Questions ( 2 x 4 marks)

Show your working clearly and write your answers in the spaces
provided.

9.  David is making sandwiches for his friends.

He makes 3 sandwiches for each of his friends.

(a)lf he has 7 friends, how many sandwiches must he make?

He must make sandwiches.

(b)How many friends does David have if he has to make 15
sandwiches?

He has friends.




10. Shirley has 8 apples.

Terry has twice as many apples as Shirley.

(a)How many apples does Terry have?

He has apples.

(bYHow many apples do they have together?

They have apples altogether.
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9)a)3x7=21
He must make 21 sandwiches.
b)15 - 3=5
He has 5 friends.
10)a)8x2 =16
He has 16 apples.
b)16 + 8 = 24

They have 24 apples altogether.



